Government of India
Ministry of Railways
Research, Designs & Standards Organisation
Manak Nagar, Lucknow - 226 011

No. EL/3.2.172 Dated Feb.1998

Modification Sheet No. RDSO/WAG 5/28  (New No. WAG5/241)

1. TITLE:  Adoption of modified brush holder insulator assembly
insulating rod and brush box along with the provision for arcing studs on BHRR
assembly of Traction Motor type HS-15250A.

2. APPLICATION : Traction Motor type HS 15250A.

3. OBJECT : Railways have reported a number of cases of looseness of brush
holder insulator assembly on Hitachi Traction Motor type HS 15250A. The complete
brush holder and insulator assembly is mounted on the rocker ring with the help of
M24 nut having a thickness of 12 mm in the present arrangement. The nut is welded
with the stud of the insulator to avoid looseness of the same. However, the insulator
assembly is getting loosened from the M24 nut even if the nut is welded with the
insulator stud. This is virtually a type defect on this Traction Motor.

This type defect has been discussed during the meeting held at
CLW!/Chittaranjan on 23/24 Dec.'1997 on the performance of WAG7 locomotives and
Hitachi Traction Motors.

The arrangements of insulator rod and brush holder assembly on the rocker
ring was studied by RDSO of different types of Traction Motors. It was seen that in
almost all the Traction Motors, the insulators are mounted with the help of a bolt on
the rocker ring. Therefore similar arrangements has been developed for Hitachi
Traction type HS 15250A by providing a bolt size M24X30 with a spring washer for
mounting the modified insulator rod on the rocker ring. The brush holder for
mounting bolt has a bolt of M20x45 has been provided along with a serrated washer
and spring washer. The insulating rod has been modified to suit fitment of bolt from
both sides by suitably serrated to avoid slipping of brush holder box during service
when the same has been fully tightened. The weight of the brush holder box has also
been reduced from 2.8 kg to 2.3 kg by suitable reduction of sections as can be seen
from the Drg. No.SKEL.-4441 attached.

Further there have been no arcing stud on the original Hitachi Traction
Motor. Subsequently M/s BHEL and CLW have introduced arcing studs by providing
one arcing tip on brush box and another tip in the CE bracket. Sheds have been
complaining about difficulty in replacement of arcing studs mounted on the CE
bracket in the assembled Traction Motors. Therefore, in the modified arrangement,
this mounting stud has been shifted from CE bracket to the rocker ring with the help
of V fixing bracket. It will now be easier to replace both the arcing studs in
assembled Traction Motor while the same is mounted in the locomotives. Both the
arcing studs are a part of BHRR assembly.



The above modification has been carried out in consultation with M/s Mica
Mold Jamshedpur who have developed the modified BHRR assembly and the same
has been tried at electric loco sheds, Kanpur recently. The modified insulator has also
been tested by the firm for requisite test parameters as per CLW specification and the
drawing.

All the maintenance features of the existing BHRR assembly have been
retained in the modified arrangement, that is the brush holder box and the insulators
can be insitu.

Therefore, Railways and Traction Motor manufacturers are advised to adopt
the modified arrangement of brush holder and insulator assembly on the BHRR ring
in line with the subject modification. This modification may also be carried out on
existing Hitachi Traction Motor type HS 15250A by changing the insulating rod
assembly along with the bolts and serrated washer and spring washer etc. The existing
brush holder can be reused by providing seration in its arms. The details of the
modification are furnished in this modification sheet.

4. MATERIAL REQUIRED :

- Brush holder case as per RDSO DRG, No.
SKEL-4441

- Brush holder assembly as per RDSO DRg. No.
SKEL- 4442.

- Insulating rod for brush holder as per RDSO
Drg. NO. SKEL-4440.

- Hex head bolt size M20 for brush holder
assembly as per RDSO DRG. NO. SKEL-4443.

- Hex head bolt size M24 for brush holder
assembly as per RDSO Drg. No. SKEL-4444.

- Serrated washer as per RDSO Drg. No. SKEL-
4445

- Cleat as per RDSO Drg. No. SKEL-4447

- Arcing stud a fixing bracket for rocker ring as
per RDSO Drg. No. SKEL-4448.

S. REFERENCE DRAWINGS :

RDSO Drag. Nos. SKEL.-4440, 4441, 4442, 4443, 4444, 4445, 4446, 4447
& 4448 = 9 nos (copy enclosed)




i)

WORK TO BE CARRIED OUT :

Take out commutator end and shield and remove the arcing stud provided on
it. Modify this commutator _end shield as per RDSO modification sheet
No. RDSO WAG 5/24 dated 29.1.98

Take out BHRR assembly. Remove existing insulating rods and brush boxes.
Modify existing BHRR by drilling and tapping 6 numbers of Mx20 holes
each on PCD 509 and 571 respectively as per RDSO DRG. NO. SKEL.
4446. These holes are for the fixation of six arcing stud fixation brackets to
RDSO Drg. No. SKEL. 4448 on BHRR

Mount the brush holder, insulating rod (Brush holder insulator along with
Hex Head Bolts M24x30 and M20x45, spring washer and serrated washer
procured as per above Drg. on the BHRR as per usual process. Refer
assembly Drg. No.SKEL. 4442,

Assemble the arcing stud and its fixing bracket procured as per drawing
No.SK. EL. 4448 on the BHRR as per DRg. No. SKEL - 4446.

Keep the arcing stud gap 12.5 + 1mm adjusting the arcing stud.
Tightening torqrue  M24x30 bolt - 35kg-m
M24x45 bolt - 20kg-m

Adopt modified cleat as per RDSO Drg. No. SKEL.-4447 on rocker ring in
place of old cleats.

Follow the usual practice for assembly of interconnectors. Follow RDSO
modification sheet No.WAG-5/27.

Check the magnetic neutral axis by kick method as per RDSO SMI-
ELRS/SMI/181.

PERIODICITY OF IMPLEMENTATION :

— On new Traction Motors.

— During rehabilitation/overhaul of Traction
Motors.

— During IOH/POH

— Whenever existing brush holder insulator
are found damaged/loose.

— Tightness of M24x30 and M20x45 bolts
may be ensured during IC inspections.

AGENCY OF IMPLEMENTATION :

— Traction Motor manufacturers.

— Traction Motor shops

— POH/Repair shops.

— Electric loco sheds
LIKELY SOURCES

— Mica-Mold , Jamshedpur




- CLW
— ARCO/Mumbai (Under development)
10. Distribution :  As per enclosed list.

Ve A/

/ NSRS ACEAN
AN ——

(N

(R. K. Kulshrestha )
for Director General/Electrical

Encl: As Above.



6 ossaans | OV VY — THASTHLA "LOATH "O°S'@'Y

3lvad AB'Qddv

NOILdI40S3d

ON'43d v SNIVLS

sasars | 430TOH HSNYE d04 dOY ONILVINSNI

anss! sl V0SZS1 —SH dO10N NOILOVYL

Aﬁwﬁf@ A Odd 7 “SIN \HSL A_WT 7 e
"03dS WALV nN3/oN ‘940 V130 NOLLJI3S3a O ou0/1vd | g
— “SONS F30T0H_ASNEE 904 — S34N03204dd 1S3L ONIAN3d
oLy - L
Olv - 4
VOIN — -
d30N08 _SSV1 £
I41d 3INIIIS NOT43L - ¥
Olv — S -
¥ 19 T6-2902%] Sryy—T3INS 9
‘SONg dSTXISHX0Z N | cppp—T3ve
SONg BEERAN | cvvv—ans| ¢
"SONS Y3IHSYM ONIMdS - 9
T0EXT T B
1108_Q¥3HX3H
arZ—N d3HSYM ONIMdS - oL az

00 J330X3 ION TIVHS 1—439 4O WWSHX8U8Z NOISNINId OL
1534539 HIM Z2—439 40 WUW$X8YRZ NOISNIWId 40 WSITIITvIvd
"440 03ANNOY 38 OL 3¥V SYINJOJ divHS TV

“TIO_ NI JIANIA 3NO

S ZC ONVISHIIM TIvHS 10T HOV3 WO¥4 d0IVINSNT ON 3ND (
v NI 3N 04 5/9 05 "AM ST ONVISHIIM TTNOHS SHOIVINSNI TV
TAWHOVOIW )Z NVHL J90W 38 T

SDB3 000Z 3INVHL 390N 38 TINOHS HIONIIIS

404§,

NOHS IS3I HIONIJIIS SN
M 00GZ IS3T FTISNIL INIINOYH

SIS3T 3ONVIJI0IVY '+

d314153dS I[ON 3d93HM Z°0F IONVHTIOL €

‘M0T38_J3NOILNIW
HIM A1dN0J OST¥_JTINOHS AJHL 43d0dd 40 SSOT LNOHII
SHNOH $Z OL 91 ¥04 NOIIVANd SNOT ¥04 3.00Z IV SNIIVIH H3A0

NINTHT

"KIBW3SSY ¥04 3.08¢ OL 0,05¢ IV JAFITS FHI IVIHU
Wwe/=0d/0 ATBNISSY 340439 ¥ 434 JAFITS NOT43L 4

I ONY
NIAIT )

—:310N

(X)) "WWS00 38 TIVHS
(Z%1 134 SONILLIY THLS NO

ALIDIINIONOD 40 FONVHIT0L

(Z

I

1d3SNI 40 Tv1l3a

€9,

999

0Z—-N

Eigd
EE

93¢

(€C0°0-)848e
0

HOLIdZ
X10EXYZ—N

HOLIdSC

ASyX0e-W

©)

[ otk

|VHONYHO'S|

[Teszoz]

2] o




3lva A8'0ddv NOILdI¥0S3a “ON 43 v SNIVLS

0v¥y — TS| HLALOUTH O'S'd'd

A8 0303S¥3dNS NOTTIHO

S3qISKdNS HSV) YHATOH HSNYd YYANVHO 'S

03nSS 1SH4 V0GZCT SH YOLONW NOILOVYL 86'20°0¢

(90 w03) 18 "0ddy 7 SIN —3W0S 7 A_WT 7 g

.
“03dS/1¥N N3/ oN 940 V130 NOILdI¥9530 “oN Lvd e
=08 ] d M3IA
eT0B D B L 9 3SY0 ¥3IQTOH HSNyg L « “
v — —
0 . 5
) "H'@ 404 d3sn 38 TIM ONILSYD a1 oy
~73I0N a e
TG goot 9F — JIOH L
RO \M\ GO+
(aNLS ONID8Y ¥0) I o2 ] _ = =
0z 3408 93INN0D @ ] ) AN L
(s'£1) sl d330 8—W F10H-L | zi-nF0m ¢ st i3 - £ 3
a — K]
- auld 7 o | lovor0® sz vodlS|  Lo+|o om”mwm Foatoz
G [] ] » d
B —, | s | s — «
w / - F a - "
& g — T SN )
& m (A & %) (AT \Rq ) 5
[l @) | | & | & | %
>, ) T A 7 20 Rk A 8 —+
o
~ »~ ky
I N R L ~ ; )
Y 8 XC I - gl T i (54 PN
o /et f ! o P
Sl 05T
— —t —
i F TIMA ¥—S310H 6
(zl) 8 330 W —SIOH +

(%]

o 52

Y MIIA,,
[CNCERGEIANES

WU | X WWE {3 4NYHD
E
89
AT
= L
a ]
[
&
4
¥
~
!
o
[
&
T
g//f
Sol
0z
o
8
@
@

] I =
. p Lo+ 5o
shot vot 2X8 d3INVHD

6.
€9
o
<
=
2
"
2

.0=0,, NOIoTS 4. L I
! 7 =) | 3=
Bl
coz? 3 7 o HES!
5 &\E +H 9o SIIOH ¢
. J | |a oy
=L aH [
21 B J g0+ szlp P2
Ned \f@ti ) o= 130 o
Rl
hguin |
A L N
) il
go- T LS o & ¢
L] rsl 1|
k]S g & &P
- R
r 4 61 14 2 [FARayAN




i
]
4
1

i

ANLJ DESCRIPTION NITIAL| DATE JAUTHY. oot g0 j\é’ I S"“’ - ' N ‘
| No.| " R LS ;o
| w0l £ S AT [0 oA - ﬁr— "ﬂ'&, o g / :"2": P @ﬁ_ %“
) MM&%@% ‘f Yy (
- = 7
®\- TR W 829 Bl ®
[ M | u*“‘J ‘fﬂ, / 7 // g’ v i
Ol T
V- '_{_ i

{
=
2 1
14 J_75 =
=
S
=
B =

o
v
fe-_ | @
5[ F
N
=
k-
o

Bl
i

T
i
]
42
70

r_~4 A0 G OF 4Zhmm SUT WUST WOT //
T g™ g 1| /e M T o, -
ik /

2 /FE
28
~]

13

u

SECTION-"D-0"

%
15
I
e

{ [

eﬂ

-3

P,
a
N

!

T

=

=3

8 -
1 HE i-12 lll“ 1-H0 -3 0P 15175)
8 w | D—s] ® (B At 700
L3 " i g =0 L6 NOTE:~ SAND MOULD CASTING WILL BE USED FOR BH, CASE
I % i =
' 1 | BRu TIN BRONZE
1o 8 gy ‘ L ﬁ [ HHODER GE | 8| g s ORBC-3/
1 [ s 2;’“ f TEM|  DESCRPTON | Qrv/m MATL. /SPECN
2/
] / ReF:- SCALE- s IAPPROVED Qv
D
g g Y TRACTION MOTOR HS 152504
BRUSH HOLDER CASE

2298w HLon =

e viy-p VW - " |RD.S.0. ELEC. DTE. | SKEL- 444




. . e, N 80V NOILI¥0S30 o | LW TS
o | EVVP = TS | LA CIOTTE C0°S'CY
SIstIs ATANISSY d430170H HSNYE
¥0SZST SH 4OLON NOILOVYL VoI
G\,meﬁv%@ A8 "0ddY 7 ‘SIN ELAY 7 Amv 7 e @ Amﬂ
93/ W k&\&ﬂ 940 VL3I0 NOLLdI¥0530 oN Livd B 7 7
9 ISV ¥ITIOH HSNEE i
8l NS HSNHE z o
SLy S
8l Nid ONILSnraY < [ ‘H/t\
98 ¥INS v J — — i}
g 140ddNS ONIMdS S (oze 308 ,0)
Z 01T S 1108 GIOTS B - \,v =1 I ] = %.mfvomﬁ
¥ 49 26-290ZSI ‘TILS 9 Srrp-1Ii9 SIHSVI 3UVEES A j\ﬁm @ @ il
7 ISV WIOIdS [ By
gl L o ey 9 Sv-TINS 60T 108 6 d -
(QBI3HASOHd) 2LE90ESI 9 Q7 S3HSYI NS oL =% ) )
¥6,08L1 g5SI° z 0177 511 Tiod Galone n I I - £ H
(Q3L3HdSOHd) e G- MG ONdS 2 ~ ~
Z 811 6- 1108 GLOTS o -
¢ X
41 9N 2EHSVI NS vl =
8l % T Nid 11ds 1
9 140ddNS NS 9l
'Szy 1S 68,922:SI-133LS 9 aNLS ONIDHY Ll I\ AN I\
L) (0} 8
(Q3L3IHdSOHd) 2L£9057S! 9 8 9N A3HSYI ONIMIS gl (e /\m\ /\ / 9
— 7IAEL
[14 ar 1] [14 S A X v
= Y e
D o %&V
F— ) ) R \IC 05 %\@ K
|
H | — S N | S | S g R QI T g
23 ] O Ol | | | 1725 ot
i | | N
N ﬁ !
= %2 L

[
\.‘/

il i
E / ijjin
W @L 0

©)

(

(Eusagasn)
i

NOTIHG

VYONVHO 'S

862002




eVvy —

THMS

ALd

DdTd "0°S'd'd

ATHINASSY ddTTOH HSNYd 404 L'10d "dH "XHH
V 06¢GT 'SH ddAL JOLOW NOLLOVHL

90 404 - “ynC .
S ) 03080ddY SIN —3T70S 43
NOILVOIH103dS v NL/ALD NOILdI¥0S3a M3L
99—d8 8-V - o dS ¢Sy X0CN 3ZIS .
£861 ‘lid gvelisl | o nog avad xad | |
0%y
S— |
s

N
(@)
[ON]

ONILV'1d

uz

“OMHO ‘Ndd

Jivd

NO TTHHJ|VHONYHO'S

86 C'8l




Yyvy — THAS

LA OHTd 0°S'dd

ATANASSY 44T TOH HSNYd d0d4 110 dH "XdH
V 06¢GT 'SH AdAL JO0LOW NOLLOVHL

90 d04
) 03M0MddY SIN —3Tv0S 43y
NOILYDI14103dS ikl NL/ALD NOILINOS3a 3L
99-dg 8-V . HOLIdZT0EXPeh 3ZIS | .
S 9
‘086l ‘13d 9peLis | H A 1708 avaH xaH |

26'6¢

0]
M
o
N

ONILV'1d

u7

AMHO

‘Ned

J1vd

NOTIIHA

V4ONVHO'S

86°¢C'8L




“AHO ‘Nefd J1vd

SYyv — TTHIS HLd OATd "0°S'd'd NOTIIHA 86717

(AALVId UZ) YFAHSVM JALVIYAS
0GZ2CT "SH YOLOW NOILLOVYL

90 ¥04
) 030040ddy SIN —3V0S 434
NOILYOI4103dS / TLvA WL/ ALD NOILdI40S30 W3
vV 19 Z26—2902:Sl . ( Q3vid uz ) .
REENS HIHSYM A3LYHE3S
1'0F ¢
g L ﬁ 9\
- /oG XC HO /
f

NOILVYd3dS 140 1IvL1id o@ L] N - m

. | =3

=
7 | wm =

| 1 ~ M v
— | LD | P28
NN o o e B o | T
w > w o © L\AT - w

7 w

\t

.09 =
L1 m M
HOLlld ¢ o |
] 2
g 42
| e
P -
S| o
M




. . . Ee A8QdaY NOILdINOS30 oNal | LW snuvis
e | OFFP—TANS [ALA CLOATA COSAY
R ONIY H300d 404 J10H diL ONIIVAS
ANV INFWIONVYEY 1V3IT0 INERE)
NSS! 158 0G¢S| SH dO10OWN NOILOVYL
(o0 ¥03) 28 0dd 7 s -8 7 I_WT 7 Y
kﬁm\iow 080 V130 7 NOLLdI¥0S30 ON Ldvd N
s vy - s 310 L
O] OASHLLE=0GL-DO ¥3400Y 4

g—2—-V—-NOILO3S

\ (80£9)

(5879)

(6£99)

Sl

NOTIHA

3]

VHONVHD 'S

=]

86°CO°IT

a




LYvy —

THMS

HLAd "OdTd "0°STd'd

“AAHO ‘Nod

)

d uz ) VAT)
z%%%z@:@z%

NOTTIHA | YYONYHO'S

90 404
e ) 03M08ddy SIN —3Tv0S 43
NOILYOIIO3dS / 1LY NL/ALD NOILdI¥IS30 TEN
SCy 1S ¢L.6/L01:SI 1331S S IVER l




Dt.

16.2.79

M8

===
/ 2
CHMF. 1x1 "'L'*

ARCING STUD

ALT.
NO.

DESCRIPTION DATE SIGN.

28

DIMENSIONS & VIEW 0.
ALTERED

=)
(@]
[@N]
©
oo

[CFT e

11 17

DIMENSIONS & VIEWS
ALTERED

15.04.99

@w«r oo

R3 -

@3 T
I 9 R10

= W

12

NOTE: —

1.

N

[@al

[T SHALL BE SINGLE PIECE
CONSTRUCTION.

. AFTER BENDING OPERATIONS
STRESS RELIEVING MAY BE DONE.

. ARCING STUD & FIXING BRACKET TO
BE Zn PLATED.

. AFTER BLANKING & FEBRICATION
WORK, WASHER [TEM NO. 3 TO BE .
WELDED.

. ANABOND SOLUTION TO BE

PROVIDED ON SPARKING TIP
THREAD BEFORE TIGHTENING.

016 =

WASHER M16
FIXING BRACKET
3. WASHER M16 6 STEEL- IS : 2062
2. ARCING STUD 6 STEEL- IS : 2062
1. FIXING BRACKET 6 STEEL- IS : 1079'73 ST 45
[TEM DESCRIPTION QTY./TM MATL. /SPEC
REF:— SCALE:~ NTS APPROVED BY:— QW%

TRACTION MOTOR PS
STUD & FIXING BRACKET FOR ROCKER RING

15250A ARCING

RDSO.ELEC.DTE.

SK.EL—4448







